il

g
=
s
i

1. ¥¥4
B4 AT 7 AREE ) ETHE B L F R S
JBA T FJIKF

2. EBEAR
1) FHI4 REA N ERE AT idlkiAzkaR
261 HIH H &f1 74 TH10H

2) JE1THIR
£ o 8% 3H27H

3) wHwyI
ARYSIL, 11 AR 35 % T2 ()1 B 510 C

W7 ORI SHE E KX O 2 TR SV TR 21T, S0 M
IR E N DI DGR EER T D Z L2 HIE 5,

4) FEHBNA
BFEERERD LB Y

E+sZi@E SN



PR NER =

ull
P

¥4 | AT O) G BEE T E AR S Eg BGES
HH ) | R E IS ER R
THH - THE - FER A7 #H = 4 H OB N AR
1A | R E e ER% = 1 14, 126, 200
) S & E %G 2V 1 14, 126, 200
)| HEEME EaxE 2V 1 14, 126, 200 | FHmjHEfH
1 =X
BRH AR
1 =X
Bl A
1 =X
FHEX S E R O T F TR
1 X
SRHE T F iR
1 X
HEEEEPIRTN/CIME 7 LA & OV
o 1 =
BELREERS el B B ERL
1 X
i
1 =
R
1 =
LA = 1 1, 047, 520
Him GREHED) = 1 1,047, 520
Tavs = 1 787,500 | fIEE
1 =
Z D = 1 124,600 | A[FIBLHEE A
1 [=]
PR AR |2 K B
2 [F]

-1- E+sZi@E SN



i

i
T

ull
P

==
=]

¥4 | B0 TR Q) DIHEBREUE T ERG RS E i BOES
H H L3l
THH - T - fER] B fr & 4 % BN AR
NS SRR = 135,420 | ZABARERALTERR
1 e
[R5 S 2y 292, 594
[ERES S 2y 292, 594
TR m =X 95,594 | kg (REE - @A)
1 X
Ty 2 197,000 | FEFRCRALTEREE
1 X
B (Z Ot mER <) = 15, 466, 314
Z DA = 8,171, 048
— I A = 12,722, 638
SRR X 36, 360, 000

E+sZi@E SN



